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System of Linear Inequality Review Problems

Period

tan graph the solutions of a linear inequality.

1. Rewrite the equation in slope intercept form.
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2. Rewrite the inequality into slope-intercept form.

3. Graph the solutions to the inequality.
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4. Using the graph, check the possible solutions:

;/ 0, -2)
4 0,0)
2 (6,0)
s/ 0, -4)
 (10,0)
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5. Define the solution of a two variable, linear inequality.
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10. What are the possible number of solutions to a system of inequalities in two variables. Explain your
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11. Write the inequality for the graph of solutions. -, S0 lL ;
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13 Is the point (-1,-1) a solution to the inequality y < —2x — 37 Show yourtalculations and explain
your reasoning.
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| | can graph a system of linear inequalities.
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15. Graph the system of linear inequalities.
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|16 Writethe system of inequalities for the graph of the solutions.
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17. Graph the solutions of the system of inequalities.

| can create an inequality and use it to solve real world problems.

\& | Aradio station is giving away tickets to a concert. They plan to give away tickets for seats that cost $70 and

$100. They want to give away at least 8 tickets. The total cost of all the tickets they give away can be no more
than $850. What is a possible number of $70 tickets and $100 tickets the radio station can give away?
a) Write “Let” statements.
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b) Write a system of inequalities that repre he situation
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d) Write one possible solution to the problem.
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f) What two inequalities are needed in b) that limits the
Q solutions to the first quadrant?
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